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" Parents Sigrature

1) 16048

@) ea00
(3} 6408

2. VWhatis the valug of digit 3 iri 43787

(1); 30:
{8 3
(4); 3000 ¢« ¥




3.

4

\Athatis the numbar shiown below?:

G{hbusahﬁs '

(3) 2608
{4y 2650

kit bt the following nuribers is: the smallest?

(4) 8769
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Arrange the following Hubars: frof the: sisllest io the greatest

‘Smallest Greatest
My 2OT 210, BRY
@ 2500, af2F ., 320
G a0 . sy, 20
@ sz, a0, 250

In e nimbee pattetn below, iat s the missing rtimissr?”

(ty 5010
(2): 5098
3y 5100
(4): 5102

Find the: value of 38267 2644,

1) 1185

@) 1285
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1. There.aie 82076 markers and 1048 blus rharkers in a shop.

How niany rarkers, are there altogether 7
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Section B {6 marks).

Qe nd 13 carty 3 marks ‘each, Show your working | cleaﬂy“and write your
‘answers:in the Spaces | prowded For questlons whlch;reqmre umts gway:* r-answers |n
the uriits stated. ' : .

12 Jack:had 2000 marbles

{a) How maﬁ'y;maral’es aiti_"T‘a'm have? {1 mark]

(b} Torn bought another 480 marbles.
: lid Tomn have intotal? [2 marks)

Anst {a}




3.

Sh

How muct did’ Mary save:alt

[Bmarks}.

Py s i Jamiaiy.

End of Paper

ogethier in January and in February?

Anst .
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NHPS: P3 Mathematics

Answers

Térm 4 Weighted Asséssment

Sectiori A Part 1

.

1] 3 5

Gn | Answer | Gn | Answer |

21

3 ]

T looing

q

Sedlifyfl A Part2

Qr

Answer

- 8

[@ 725 (5)350

11

520 + 1048 = 1668

Section B

Qo Answer

1z

‘ . 653
Torn 2 (a) L

Jock | 2000

{3} 2000 — 653 = 1347
Tomrihas 1347 marbles,

{(b) 134%+4e0=162¢
Tomi had | . itofh]

]

an ?

Feb §709

799 4+ 263 = 1052
1052 +799 = 18571

Mary saved $1851 altogefhier.
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